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Cell Biology
  

1. The nucleolus: a). regulates the reproduction of the cell b). functions in the synthesis of RNA 

c). secretes the nucleotides of DNA d). synthesizes and stores lipid molecules e). acts as a 

reservoir foe excess DNA molecules 

  

2. Protein synthesis begins when: 

a). the anticodon of t-RNA binds with its mRNA complement when mRNA is attached to the small ribosomal unit b). tRNA picks up its specific amino acid from the cytoplasmic fluid and transports it to the ribosome c). messenger RNA, along with activating enzymes and amino acids, forms an AMP-mRNA activating complex d). messenger RNA is moved by translocation along the ribosome so that the A site is free on the mRNA codon e). messenger RNA binds to the small ribosomal unit so that its first codon is at the appropriate site 

  

3. The "one gene,one protein" theory can be expanded to explain how genes exert control in cells by: 

a). determining polypeptide chains b). interacting with proteins in chromosomes c). assorting 

independently during meiosis d). inhibiting enzyme formation in some cell reactions 

e). replicating before the beginning of mitosis 

  

4. Point mutations: a). remain fixed in the germplasm and cannot be passed on to the progeny 

b). occur at the 5' end of the DNA strand c). force the genetic code to be read from the wrong place 

d). are caused by a break in the chromosome e). result when one nucleotide is changed for another 

  

5. In a diploid organism with the genotype AaBBCCDDEE, how many genetically distinct kinds of gametes would be produced? a). 2 b). 4 c). 8 d). 16 e). 32 

  

6. Which of the following is true of a gene that is dominant? a). it is usually detrimental b). it will occur more frequently than its recessive allele c). it will occur less frequently than its recessive allele d). it is more likely to be passed on to the next generation than its recessive allele e). it will have the same phenotypic effect whether it appears in a homozygous or heterozygous condition. 

  

7. Genetic diseases are not curable because: a). gene interactions prevent the identification of faulty 

genes and the sorting out of their various roles b). defective genes remain in the cell and are passed 

on to the progeny c). defective genes cannot readily be isolated and removed from the body cell 

d). all of the above e). none of the above 

  

8. In a gene pool of a given population of rabbits, 80% of the gametes carry the dominant allele for gray 

coat. What percentage of the population is heterozygous gray? a). 64% b). 32% c). 20% 

d). 16% e). 4% 

  

For questions 9-11 choose the letter of the item that is MOST closely related to the numbered statement. 

a). adaptive radiation b). isolation c). natural selection d). stable gene pool e). convergent evolution 

  

9. Members of the same species of moths are prevented from interbreeding because they live on the 

opposite side of the mountain . 

  

10. Darwin finches are a good example of this biological principal. 

  

11. Members of a large population mate at random. 

